M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE29%4H1H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok Kook *kkok *okok *okok koK
2 kokok koK Kook *kkok *okok koK koK
3 *okok *okok Kook *kkok *okok *okok koK
4 kokok koK Kook *kkok koK koK koK
5 *okok *okok Kook *kkok *okok *okok koK
6 *okok *okok Kook *kkok koK koK koK
7 kokok *okok Kook *kkok *okok *okok koK
8 *okok *okok Kook *kkok koK koK koK
9 *okok *okok Kook *kkok *okok *okok koK
10 KKk *okok *okok KKk KKk KoKk KoKk
11 KKk KoKk *okok KoKk KoKk kK KoKk
12 KKk *okok *okok KKk KKk KoKk *okok
13 *okok *okok Kook *kkok *okok koK koK
14 KKk *okok *okok KKk KKk kK *okok
15 *okok *okok Kook *kkok koK *okok koK
16 *okok *okok Kook *kkok *okok *okok koK
17 kokok koK Kook *kkok koK *okok koK
18 *okok *okok Kook *kkok *okok *okok koK
19 koK koK Kook *kkok koK *okok koK
20 KKk *okok *okok KKk KoKk kK *okok
21 KKk *okok *okok KKk KoKk kK *okok
22 KKk *okok *okok KoKk KoKk kK *okok
23 *okok *okok Kook *kkok *okok *okok koK
24 KKk *okok *okok KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—z_‘,;’ﬂ H13.6.5 36.1 brd jfjﬁjg H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘?[ﬁj",—f‘,ﬁ H5.3.22 1024.5 bd jEjﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

2954 H2H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

L2944 H3H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

R 294 4R 4H
FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE29%4H5H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE29%4H6H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE29%4H7H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

FRE29%4H8H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE29%4H9H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F4A 10H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F4A11H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

FR29%F4A12H
534 Sim ME B[] JRR B HE 5 i i [UE
i °Cc mm 1651 m/’s h % hPa
1 sokok Fokk * %k k s*okok s*okok Fokk Fokk
2 *ofok *ofok * k k * & %k *ofok *ofok kokok
3 Fokk s*okok * kK * %k % Fokok s*okok *okok
4 *ofok *ofok * k k * & %k *ofok *ofok kokok
5 Fokk sokok * kK * %k % Fokok sokok *okok
6 Fokk sokok * kK * %k % Fokok sokok *okok
7 *kk *kk % k k * k %k *kk *kk *kokk
8 Fokk sokok * kK * %k % *okok s*okok *okok
9 Fokk sokok * kK * %k % Fokok sokok *okok
10 *okok *okok * k k * % %k *ofok *okok kokok
11 *ofok *ofok * k k * % %k *okok *ofok kokok
12 *okok *okok * k k * % %k *ofok *okok kokok
13 Fokk sokok * kK * %k % Fokok sokok *okok
14 *ofok *okok * k k * % %k *ofok *okok kokok
15 Fokk sokok * kK * %k % Fokok sokok *okok
16 Fokk sokok * K K * %k % Fokok s*okok *okok
17 *ofok *ofok * k k * & %k *okok *ofok kekok
18 Fokk s*okok * K K * %k % Fokok s*okok *okok
19 Fokk sokok * kK * %k % Fokok sokok *okok
20 *ofok *okok * k k * & %k *ofok *okok kokok
21 *ofok *okok * k k * & %k *ofok *okok kokok
22 *okok *okok * k k * & %k *ofok *okok kokok
23 Fokk sokok * kK * %k % Fokok sokok *okok
24 *ofok *ofok * k k * & %k *okok *ofok kokok
H&X 0.0 0.0 0.0 0 0.0
H&x/I 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
=X 0.0 0.00
BT —4 |RIT * * *
AEFAH °Cc AEFAH °Cc
e XuE H13.6.5 36.1 FIESUR | H20.2.17 17.7
AHEFEAH hPa AEFAAH hPa
| EERE H5.3.22 1024.5 IERE | H14.11.24 936.7
EERFHH| mm/day $EFBH| m/s
A HME H10.11.26 212.5 R KRJER H17.9.2 55.2
AT—ARE., $63.9.25~H26.12.31 DHAREZHRIZLTLET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F4A 13H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F4A 14H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F4A 15H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F4A16H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F4A17H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F4A 18H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F4A 19H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER294F482

0H

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER294F482

15

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER294F482

2H

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER294F482

30

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER294F482

4H

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER294F482

5H

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER294F482

6H

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER294F482

78

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER294F482

8H

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER294F482

9H

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

294483

0H

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok Kook *kkok *okok *okok koK
2 kokok koK Kook *kkok *okok koK koK
3 *okok *okok Kook *kkok *okok *okok koK
4 kokok koK Kook *kkok koK koK koK
5 *okok *okok Kook *kkok *okok *okok koK
6 *okok *okok Kook *kkok koK koK koK
7 kokok *okok Kook *kkok *okok *okok koK
8 *okok *okok Kook *kkok koK koK koK
9 *okok *okok Kook *kkok *okok *okok koK
10 KKk *okok *okok KKk KKk KoKk KoKk
11 KKk KoKk *okok KoKk KoKk kK KoKk
12 KKk *okok *okok KKk KKk KoKk *okok
13 *okok *okok Kook *kkok *okok koK koK
14 KKk *okok *okok KKk KKk kK *okok
15 *okok *okok Kook *kkok koK *okok koK
16 *okok *okok Kook *kkok *okok *okok koK
17 kokok koK Kook *kkok koK *okok koK
18 *okok *okok Kook *kkok *okok *okok koK
19 koK koK Kook *kkok koK *okok koK
20 KKk *okok *okok KKk KoKk kK *okok
21 KKk *okok *okok KKk KoKk kK *okok
22 KKk *okok *okok KoKk KoKk kK *okok
23 *okok *okok Kook *kkok *okok *okok koK
24 KKk *okok *okok KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—z_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—ﬁan,'l H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




